Name Section
Physics 1210 Exam 3
14 April 2011
This test is closed-note and closed-book. No written, printed, or recorded material is permitted. Calculators are
permitted but computers are not. No collaboration, consultation, or communication with other people (other than the
administrator) is allowed by any means, including but not limited to verbal, written, or electronic methods. Sharing of
calculators is prohibited. If you have a question about the test, please raise your hand. For multiple choice, you may
choose two answers, and if one is correct, receive half credit, etc. For full credit on written problems, show the full
thought process from basic equations to final results.

X—X, Ax Vo=V, Av V an R 2.2lbs=1kg
V = =— a. = =— == 221bS:1kg
avg t.—t At avg t.—t At (O R T2 .
>~h 27t 1mi=5280 ft=1760m
1 » -
X=Xy tvottoat vy =v +at v =y>+2a(x —x 1Calorie=4200J
2 =Vo 1=vot2a(x —x) 1Ton=2000bs
> F=ma - _ 4
Fspring_ kx Ff_”Fn Vsphere:§WR3
Work/Energy P _ _1, _ _AW _ _ dU
W=Fs5 W=AK US—EI(X Ug—mgy P_A—t_FV Wgrav__AU F:—E
2m;x;
Momentum/Impulse p=mv  J=A(mv)=Ft X.,= ST
m; do s=ré
Angular Motion 1 > w=—= vV=r
& 0,=0)Twyt+- ' W, =W+t wi=aw}+20(0,-0,) dt w
dw a=r«
_ - - X=— 2
[=3.mr’ T=rXF=rFsing Z7=I&X W=AK=1A0 dt Argg=w T
Power, ,=Tw
1 2 1 2 2 Slender rod. b) Slender rod. Rectangular plate. d) Thin rectangular plate.
K.,= 5 Tw™ K, ,= 5 mv,, + 5 I, w O g e b o MR e v o T
I= %w? I= %Ml.: 1= é M + b?) I= %Mul
L=rXp=rmv=Ilw AL=TAt
2
Iparallel = Icm+ Md
Gravity: G=6.67x10" M m’/kg’
G M, M, GM M,
- - U - - Z
g rz g r (e) Hollow cylinder (f) Solid cylinder (8) Thin-walled hollow (h) Solid sphere (i) Thin-walled hollow
cylinder sphere
GM 1= é.w(nf +RY) 1= é.\ml 1= MR 1= _i;we—’ I= iMR"
_ 1
vcircular_\/ r

Periodic Motion dulum: w= \ﬁ
f:l w=21f pendulum:w= T

@ :\/E physical pendulum: w =4 —2—

x=Acos(wt+¢) v=—wAsin(wt+d) g=—w?Acos(wt+de)

2
dampedmotion:XZAe(_blzm)Cos(w't) w':\/K— b -
m  4m



